H £ 0l & AF & S

Al A

SN MBS
3 Y2
ctel: ottt (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot it 19,881,276 17,508,927 2,372,349
a2 32,708 36,292 A3,584
Ot== =2t 4,860 4,320 540
of==21 ZH| 4,860 4,320 540
201 fer= 3| 4,860 4,320 540
01 At 2|l 4,860 4,320 540
OBt4E ASEF SAHI(EY)
9,000 68 +0ed~ 123 4,860
=CAIE 292172 21,340 25,8%6 4,55
=CAlE 2g2e 21,340 25,8%6 A4,55%
201 er23 | 9.720 7,776 1,944
01 At2teltl 9,720 7,776 1,944
O+ 22|UR =T SAHI(SH)
9,0003 x5+ 12 4,860
O AIEHLR =X SAHI(SH)
9,0002+38 0« 123 2,916
Os+2eldR =2 SAHI(SN)
9,000 =28 »0ed~ 123 1,944
202 04l 11,620 18,120 26,500
01 =LHA LI 11,620 18,120 26,500
Al B34 & YA
20,0003 102+ 132] 2,600
Ox==x=s A daxXo TE ol
20,0002 * 121002 2,000
O&+=Eea % AHI| 22/0H(5AH)
130,000&%3.5E «12& 5,460
Ot 2e|HR = oHI(SH)
1,560,000& 1,560
Alot=2te| 6,508 6,076 432
Alot=2te| 6,508 6,076 432
201 et 3| 6,508 6,076 432
01 At22t2l] 3,888 3,456 432
O+C2ZdR =& SAHI(SH)
9,000& x4 »x 0L« 123 3,888
2 s5=4g4l 2,620 2,620 0
OXlote =8ZA S HUHSE €5
2+2,0000H*22] 1,720
OXlote EX2AEY LUESAH]
75,0003 * 128 900
YA I (&ot=Zn) 469,725 399,503 70,222
QI 2| (&5 mt) 438,497 367,525 70,972
QI 2| (&ot=2m) 438,497 367,525 70,972
101 @124H| 438,497 367,525 70,972
01 &2 147,743 130,126 17,617
OAIZtel 22+¢ 136,655




FA: dote=nt
M AHAM2HAHI(ASHC1)
CHel: Ol oiy| (BT D) )
- FE - S9I(E1) - HIRAY - BES A 2
—6= 12,8442 +8EH+50A1 2t 128 61,652
7= 11,6023 x4 +50A1 2t 123 27,845
—8= 10,4163 x4 +50A[ 2t 123 24,999
—9= 9,860 x2&*50Al 2Hx 123 11,832
—62(4+
12,8443 x1H+67 Al 2H+ 123 10,327
Od=k Hla22 Al2te=E 6,784
—6= 12,8443 x5 16 Al 2H+4E 4,111
= 11,602& x 12 %16 A1 2H+4 3 743
—82 10,4163 x 12 %16 Al 2H4E 667
—9= 9,803+ 2 +16A12H+4& 1,263
OX< &I 143,439,000 «3% 4,304
02 JIEtXE == 213,499 178,273 35,226
OAlZte|=E(HaEH) 103,502
—&< 12,9263 2 +65A1 2H+ 123 20,165
—2ZAt 12, 1333 x1Z+65AI 2H+ 123 9,464
-3 10,8213 x6H+65AI 2H+ 123 50,643
—=34 9,927 3 3 *65A 2t 123 23,230
O+ HAZE) 53,079
-39 4, 3003 x2H+8A| 2+x 150 10,342
—2ZAt 4,044« 1Z+8A| 2H150 4,853
—3& 3,607 2«6 +BA| 2k 150 25,971
—=34 3,300 x3& +BA| 2tx150L 11,913
OF LIPS (HAZE) 50,699
—&< 103,902 x2H 452 9,352
—2ZAt 97,5282 * 1«45 4,389
-3 96,9803 6 452 26,185
—=34 79,7973 +3 *45 10,773
OXMSIH&HI 207,280,000 3% 6,219
03 BRH(RIH L) 22U E > 77,255 59,126 18,129
OYREBRR(MREX, FAld2eld) 77,255
—105=(19,52%) 18,819
- AlIREe| =G
20,0183 x1H#35A[ 2t 12 8,408
oRt22=4
6,673 x1H+BAI2H+150L 8,008
e ] 160, 1403 « 15 2,403
—9s=(19,52%) 18,649
A2l
19,8383 * 12 +36A12H+ 123 8,332
oRtZ22=¢
6,613& x1Z+BAI2H+150L 7,936
SL2RE 158,700« 15& 2,381




SN ASHEEZ
HH: HNSAZH|(ABIEZ1)
CHel: QI 2AH|(AGI4=EDt) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—852(1Y,52x) 18,481
NEL =
19,6501 * 1 *35A| 2+ 128 8,257
OFA224¢
6,553 *1H+BA| 2+ 150 7,864
SU4224Y 157, 2722 % 15 2,360
—852(1Y, YN 3,500
NFL =
18,6142 x 12 x15A| 2+ 122 3,351
e 148,908 x 1 149
45219, E28) 17,806
NEE =t
18, 1R *1H+35A| 2+ 128 7,9%
OpI224g
6, 3142 x1H+BA| 2+x 150 7,577
s2RY 151,524« 15 2,273
Jl2dul(&ot=E1) 31,228 31,978 AT50
Jl=22d|(Aot=Z1t) 31,228 31,978 AT50
201 Ler2y) 21,452 18,698 2,754
01 Al22t2|| 20,652 17,898 2,754
OAIRID|I2d(5Y)
198,000 +5E! * 12 11,880
QURR=ER(BY) 200,000+ 122 2,400
OJIEI2gHI(BY) 5,400,000 5,400
O2ES3AMHI(BY)
9,0002x1H+0 x 128 972
® =329l 800 800 0
Oglaxelg 2ETY
800,000 % 14! 800
202 04| 3,600 7,200 3,600
01 2UH04t] 3,600 7,200 3,600
O HFAILE SXIEI(BH)
300,0002 1% » 122 3,600
208 LPF=ZIY| 6,176 6,080 %
03 AR YR EXIY 2,000 2,000 0
O=Jt04t &2 & ZHYR =& S
2,000,000 2,000
M PASILLEXY 4,176 4,080 %
ORASY LR=AY|
348,000+ 122 4,176
WREs(Ask=Z1t) 19,378,843 17,073,132 2,305,711
S HeHKIE (Aot+=Z 1) 19,378,843 17,073,132 2,305,711
JIESIHE &S 19,378,843 17,073,132 2,305,711
701 JIEFSIHSHES 19,378,843 17,073,132 2,305,711
01 JIEIBIHAES 19,378,843 17,073,132 2,305,711




2A:
T ZH -
D

el

- ByS

Ofl &F2H

MEE
Ofl &k2h

8,839,429,000&

10,539,414,000&

8,839,429

10,539,414




